@® (-0.1)xbxa=-0.1ab

@ (x+y)+(-3) =12

XZ
y

@ 4xxx(-2)xyxx=-8x%

@a+(3xb):%

bies

flo

R
[

1 a
@av(3xb)—av3b_ax3—b_§




a=3 b=-2 4 ab- 5 9 & Fsfelet,

Ch
H -

>
[> ek 7

oH s

ab——:3><(—2)—§:—6—1:—7




2

abc O] & T

® -12

Sy 430l x o A

she1?

@ -6

a2 € 7

® 6




B7]
@ —4x% x? © ab,bc
@ _199 @ 3Z’ —Z

Pee 066 00e ®oe Gee

B

2 oF ZAF7} ook gt

@ —4x%, x* - ZAE ZA 257 g2

© ab,bc - 2= ZAT ZA7F 2T

© -1,9 - &2 Z5olrh. wetq FRFelh
@ 3z, -z - A} 2pp7t BE Ak




@ 100 ¥#] 53 a7iet 500 YA 4 b )] T2
(1005 + 500a) Ho]tt.
® x% o] &9E 300g°l B0 U= 279 2 300xg ©|tt.
@)1 Al » 9 3F= B 2 B A, 20009
A2LEEL (2000 - 2x) Yoltt.
® A& vkm 9] £H 02 skm o] AL E Eel= H A=
AlZHE = AZtolt,

tlo
=
£
lo

h\<5

B

@ ¥l dol7taem §l BAMAF S E89] 4ol ta+a+a+
a=4x%a=4a(cm)

@ 100 ¥ 54 a7iet 500 972 T b70e] 7 100 x
a+ 500 x b = 100a + 500b (Y)

@x% —/] —/7\—'1::,'%300g Oﬂ EO'] ]% —EIL_Q] OC;':: mx300=
3x(g)

O A& vkm 9] £ 0 7 skm O] AE D= d Ao+ AZt
, A=) _ s




6.

7t=7b X, A2y §

SES

|
T
\_aj_,f

X

XXy =Xxy

r

‘ CRELERTE)




o7t Holl A E9ste] Al 3km &2 stuztx] 7h=d & 1 AI7H
30 %ol AFet. g AE # km A7}

@® 3km ®) Zill{m @gkm
@ 5km ) ?km

(A2) = (A x (%) o|B 2

wetA, sta7bA e Azl

l\DIw lﬂ

3= 2 (k) oI,




8.

A=-5x-4B=-x+3¢d, 2A+3BExo &
e H?

O -7x+10 @ -7x-10

® 7x+10
@75 +17 ® 7x-5

—2A +3B = -2(-5x—4) + 3(-x+ 3)
=10x+8—-3x+9
=Tx+17




E+3(a—7): ,i(b 12)+[ ]=3p-7< o, ul 71
=014 Ao A a &} b—J A4=9] 9FS Fotoiz).
» &
o =1 1
> ™t -1

B

[ ]+3@-7) _—a—1°ﬂH
:Izéa—l—(3a—21)

1
=§a—1—3a+21

= —ga+20

Sb-12)+[  |=3b-7°lA
|:|:3b—7—(1b—9>

3
=3b- b2
Tihs
9
=Zp42
i

wi2bd o) ALt bo] A%l e -2 4 = - el







11. o] chatalof 20+ 4 2 wlojof & AL
o] Hgict. ojuf up= A A4LE Ak

@x-9 @ 3x-5

@ 7x+3 ® 9x+7

A3 AT HREY 5x-1

® 5x+3

B

ojH 2 : A

A+ (2x+4)=5x-1
A=5x-1-(2x+4)=3x-5
L (Bx-5)-(2x+4)=x-9

S5x—1-2(2x+4)




5 402 ek g, 419 mego
e
(&, B9 B2 )

@ A% 4km & x AZEZ w9 2 A=

@ 9HHo] Zol7t 8em , =07 xem 9 A2+ 9] Y o]

@49l Al 5474, Q) A2 9] 5247} x A HA%
@ x99 $E 470 G

® g o] Zol7F xem Q1 AR 9] ] Ao]

D,0,®06 : 4
® Al A $A7k 4, D2 A9 $27t 9 AAG : 40+




13.

gt HA7A A AR oAl 1 7Rl x ol BYTh 252 AR
o 15% &elsto] HAATY ofA| 9] 2 ijekF AR HET. o A<k
L5 o5 T W AR 1 /Y] Bt HAE x B AMER A o' UE
teizt.

» e

> He 09x ¥

B

oA T Alte] 5 a () 2 FH, &5 T AR A4
= 2a (7h) °]tt.
(1A AHE T FH)= ax (¥)

\ = 85 17
(QE A]'Jj]";—:_—- “11'_]_ 'ELQH[): 2a X mx = l—oax (%’l)
(VB BB A 1 A9 B A= LT g,
a a




14, 043 % 232 500g S0l xg €] 2F0] Eol9E Yo L

D 0.05x% @g% ® 0.5x%
@ 5x% ® 50x%
= %100 = =%

500 )




4x — 2 _
x35+§:ax+bgﬂla+bﬂ%ﬁ%¥ﬁﬂﬂ.

15.

>
1
|>Io'ilél': a—|—b=—§

4x-5 2 4x-5 3
5 X

5
:2x—§ =ax+b

ojlBR g=2,b= —g ojt}.

wet atb=2+ (-2) = -1 oIk




16.

® 3+x @xx?) @x—l—x—i—x

@ xxxxx ® 3xx2

~&B

@ xx3=3x
@x+x+x=xx3=23x
@ xxxxx=x3

® 3 x x? = 3x?




17.

oA 56 - x 46 2 & NS a,

ot 3 ), 4 - be ©] IS Fatolat.

> g
>3

ot
©




18.

x O Ag7E 2 2 9%
o 4o F& p et T

AAAL 2x + k 2} 5HH

4+
1

a k
b=10+k

-'-_b— = (10 +k) -

(4+k)=10+k—-4-k=6




19. A Azle] ol A wel ae) s, Aol A2 57, el A2l 548
27k a, b, o 2 ST, M| Ae] A9k Ao Ae] 241 AR U
8 tehE?

@ 100c + 10a + b @ cba
® c+b+a @ 100a + 10b + ¢
@)100¢ + 106 + a

A9 4= 100a + 10b + ¢
ul o] 2] 2ot o] 2t =ALE HHE e
100¢ + 10b + a




a, b, c,d, e 7 & 7P Z2 +E AU R

rlx
N

-3x+9 ax—>b

@) 0.75x4— 0.5 — ) o
cx +
© 3 : 1 - 0.6x = —@JH-O.EZ
X+ < ) —dx—e
—l045x-2) =
© 75 10
@ 23,-3 @ 23,4 @23, -4.5
@ 13.5, -2 ® 13.5, -4.5
@ 0.75x - 0.5 — _3x5+ 9
=0.75x — 0.5 — (—0.6x + 1.8)
=0.75x — 0.5 + 0.6x— 1.8
=1.35x—2.3
_ax-— b
T 10
o8B & g =135, b =23 o|th.
4
(@) Gl ok 9 0.6x
2¢ — 6)
= ( 110 x+0.8
= —EX + 08
o|B=R 9c—6=-1 L c=25
3x+1 ( 1)
© 1 0.45x z
= 0.75x + 0.25 — 0.45x + 0.2
=0.3x+0.45
_ —dx—e
10
o|JBE2 =3, —e=45
Sod=-3,e=-45
wreba 7P E4E b =23, 7P A2 5= e = -4.5 0|t}




